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Instructions for the Candidates

. Write your Hall Ticket Number in the space provided on the top
of this page.

. This paper consists of seventy five multiple-choice type of
questions.

. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requestedto open
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the booklet and compulsorily examine it as below :

(i) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.
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where (C) is the correct response.

. Your responses to the items are to be indicated in the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle in the Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

(ii)

(iii)

. The candidate must handover the OMR Answer Sheet to the

invigilators at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR
Sheet and used Question paper booklet at the end of the
examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or log table etc., is prohibited.

. There is no negative marks for incorrect answers.
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1. Match the following aspects related to
Buddhist Education.

a) Ceremony of initial 1. Danda
ordination
b) Ceremony of final 2. Vasa

ordination

c) Upper garment used 3. Ajina
by the student

d) Lower garment
made of fibre

4. Pabbaja

5. Upasampada

a b ¢ d
A) 4 5 3 2
B 5 4 2 A
C) 4 3 5 2
D) 3 4 5 1

2. As per Vedas, creation is
1. Without beginning
2. Without an end
3. Has a definite beginning
4. Has a definite end
A) Both ‘1’ and ‘2’ are correct

(

(B) Both ‘3 and ‘4’ are correct

(C) 1’ is correct and 2’ is incorrect
(

D) ‘3’ is correct and ‘4’ is incorrect

&

w6 =1

1. eFESoBo ©5°0 e H0e0dow 2o B

IOFOR B3BISIOCE.
a) oo OF° &dydo 1. &ocs
b) wods &3 ey 2.5%
€) R R ITY 3. el
0P AOHEE0
d) oS D05 0B 4. Dy
5. &51505¢S

B 5 4 2 1
C) 4 3 5 2
D) 3 4 5 A

2. 50 (F5°00, QRO

1. es80e5o 898
2. 9050 8O
3. &3813@@3:6 Seleraeviia)
4. @8@@@3?6 08B0 G ND
(A) 1,2 Bocsr 505
(B) 3, 43ocsr 5059
(C) 15058 5000k 2 5058 S°¢0

(D) 35356 550050 4 5356 59
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3.

Which of the following is incorrect about
the nature of philosophy ?

1. Philosophy makes a man wiser and
truthful

2. Different philosophers have different
points of view

3. Philosophy results in a certain way of
life

4. A certain philosophy has a specific
predictable behaviour.

A) ‘1’ is correct

(

(B) ‘4’is correct

(C) 1’ and ‘3 are correct
(

D) ‘2’ and ‘4’ are correct

3. B5FR0 J5ETdS HoeoRod o TedE $gK0

SN

1. B8FH0 502D JNEI0BET HBGHOBOET
D008,

2. DA BB W) YT SR 0D

3. B850 ¥ DB 55 Do) wolod

4, DB B0 DFHD (0850 O &oeod
jac) Qe - —0

2 300 T3S 20 AP ITEHBEBEIHO0Y

4. Which of the following is correct about BTG BIEO0E” @8 BB P0mgs Hod 9
realists education that is least important A) 555 555 555505
aspect of process of knowing ? (A) B8gE0Rss Ea
(A) Perceptual reorganization (B) arom e
(B) Concept of attainment (C) woudayy 570
(C) Development of insight (D) 57T Sodgo Dabio
(D) Memorization of information 2083 B0
5. Match the following : s — 1 S
List-1 List-1I a) FTOIZHS 1. Zg’Cfg %;mg
a) Shantiniketan 1. Jiddu Krishna b) SROB6E 2 2 ol
Murthy 3
b) Basic education 2. Aurobindo C) PRrSen Ad 3. MK.reay
c) Integral education 3. M.K.Gandhi d) eodE s 4. R
d) Spiritual education 4. Tagore 5. Jasoods
5. Vivekananda a b ¢ d
a b ¢ d
A 4 3 2 5
A 4 3 2 5
B) 4 3 2 1 ® 4 3 2 f
C 4 5 3 2 C 4 5 3 2
D 5 3 4 1 @ 5 3 4 1
¥ A-06-03 |




6. Match the following :

List—1 List—1I
a) Republic 1. Rousseau
b) Sophy 2. Plato
c) My pedagogic creed 3. Marx
d) Das capital 4. Spencer
5. Dewey
6. Paulo Frierie
a b ¢ d
A 6 2 1 5
B 2 1 5 3
C) 3 2 4 5
b 2 3 5 6

7. As per Indian Vedanta philosophy
1. There are six vedangas
2. There are four upavedas
(A) Neither 1 nor 2 is correct
(B) Only 1 is correct
(C) Only 2is correct
(D) Both 1 and 2 are correct

8. Point out one of the following statements
which is not true :

(A) Family is a group defined by social
relationships

(B) Family is a system of relationships
existing between parents and children

(C) Family is a biological unit composes
of husband, wife and children

(D) Family is a group of persons whose
relationships are based on faith and
affection

6. 208773 3BV,

wes | 235 I
a) 0998 1.6
b) & 2. %5
c) 3o weens &6 3.558),,
d) ol sbed 4. 20350
3. Gy
6. 76" O
a b c¢c d
(A) 6 2 1 5
B 2 1 5 3
C 3 2 4 5
D) 2 3 5 6

7. ZrSBA0 AT0B BEFTHO 500

1. O Jromren &oman

2. T BT GO0
A) 15398 3¢5 2 5760 5398 570
B) SXeo 15306
) SS00 25058
)

D) 150080k 2By S35

8. 208 BB HBHO 5°0 TR Moo,

(A) PHTe2E B50eI0GTR00 AFDOTRICE KT
E¢o0

(B) 8@&0(Eo00 5000500 2po S5 ok
5022050 ;’5525??3 56200800

(C) &, 5705 500 Hges SR ) 85 50meds
et 3800800

(D) 555,50, T30 SEEHED H0L0TOR
SOR €259 D500 BROTTTR0 LEN0W0
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9. Which one of the following differences
between customs and habit is not

correct ?
Custom Habit

a) Custom has got great  Habit is more of

social significance

b) Custom is socially

personal importance

Habit is not socially

recognized recognised
c) Custom is normative Habit is also
normative

d) Custom is social Habit is a individual

phenomenon phenomenon

10. Which one of the following indicates a
‘community’ ?
(A) Trade Union movement
(B) The Indian Society
(C) The people of Indian origin
(D) People in a village

11. The relationships within the family are

structured in terms of a set of

9. D0 $o00K BT BT red” $SBH0
5208

e300 QIO

8) STPO0 YO THPEIOT TN & xR
38 Frasogtiso 0N 600 @aso SR

b) esrdo Yoo LISTILID WIOV0DS

laCISletniVbla:blelA) 18000

C) esTvo JQFFPHG VOTE0 ST

OB
d) esoeCo Joreds SERNARNENS)
SYgaedo SYgAedo

10. 200735 6 D037 (community) S5akoes ?
(A) €3& aHTICHS KoTe00eT
(B) 2r5dah $seso
(C) 2rEdak Sorreren SOAS (Hesen

(D) 5008 Hesen

11. 205 30 T3S B esgonr $e00208°

Q000G AGBRYT O ?

(A) Rules (A) Dansres
(B) Norms (B) sexeres
(C) Roles (C) Jr©en
(D) Values (D) deoden
¥ A-06-03 |




12.

13.

14.

Read the passage and answer the
following questions from (12 to 14)
questions :

A teacher may not have ready answers to
all the questions posed by students in a
class. On occasions when his/her
scholarship is challenged he/she has to
graciously accept his/her inability rather
than attempting to put on a facade of
superiority. Students feel satisfied with
their teacher’s behaviour.

What is the most important trait required
for a teacher ?

(A) Genuineness

(B) Exhibition of genuineness

(C) Concern

(D) Exhibition of concern

What is the role played by the teacher
here ?

A
B
C

D

Inhibitor
Translator

(A)
(B)
(C) Facilitator

(D) Transformer

Students feeling about their teacher is that
of

A) Camaflonged behaviour
B) Sympathetic behaviour
C)

D)

Masked behaviour

(
(
(
(

Frank behaviour

12.

13.

14.

SO0 FUN0 BT D0 T S0 IS R0
(12 -14) S5rororeco HOokod.

BENE NOS® doges @GR (HHHEYoeS
ETTTROI000 SR AT 0T EoCEPHi),
TGO FOGERIS HISE AP 0eGos”
@B Qg g SSRGS T Eoid &I
WEEB eSO evofZBowco 308, 9055063
ST TN PSYSE Iogiges Dosyly
DOCHTED.
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&
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X
&
O
o)
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e

ETgON0080 PN TIB IO ?
A) @585

B) esdomeessocds

(A)
(B)
(C) Foaymcs
(D)

D) $50585¢

€TI0 D00 IR0 eRaRd DoBI6.
(A) 508526 (S

(B) 08rd& S7A0 (5589

(C) =560 (558
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15. Match the following with reference to the

16.

Rorschach’s Inkblot test :

a) Location 1. Response,
reasonable

interpretations
b) Determinants 2. Human, animal,
geography etc.

c) Content 3. Part of the
blot —the

selected area

d) Populars and 4. Shape, colour,
originals shading
impression
a b ¢ d

The first psychologist who collected

detailed data on adolescence was
(A) Watson

(B) Galton

(C) Stanley Hall

(D) Binet

15. &% 200 So55e 905 $0e050) $od ¢

23BRSDG
a) e 1. B&H0ES,
R TR TR0
b) Jgrozres 2. BN, 56D,
TR O RNEBID
C) o 3. 505585 grito
DONE DI (de>F0

d) TRE” ey $00a> 4. S0, Cord, TAL
STOE SN

a b ¢ d

A 3 4 2 1

16. TS8R JETEHE ST SEDODR R0

BT THNG
(A) Tens

(B) mpsS
(C) FY S

(D) &=

LE4
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17. Which of the following is correct ?

18.

Statement - | : Sanguine type of
personality is marked by
characteristics like light-
heartedness, optimism,
happiness etc.

Statement-Il: Ectomorphic type of
personality is characterized
by self-assertiveness,
loves risk and adventure.

(A) Statements | and Il are incorrect
(B) Statements|and Il are correct

(C) Statements | is correct and Il is
incorrect

(D) Statements | is incorrect and Il is
correct

Match the following :

a) Drive 1. The cat recognized the
correct way to
manipulate the latch

b) Goal 2. The cat was confined in
the box with a closed
door

c) Block 3. The cat was hungry and
was intensified by the
sight of food

d) Selection 4. To obtain food by getting
out of the box

a b ¢ d
(A) 3 2 1 4
B) 3 4 2 1
(C) 38 4 1 2
(D) 2 3 1 4

17. 200 373E° OO 5988 2

18.

@Nde =1 E@"‘Q?J% SEQD 207700850 @CS?SO
LITTIE0, BOEN $0e3 OFETOR

EOA 0008

W0 =1 ©022E)d5alE TED 50780850
BAEI0W00, EHTTR) (200D,
TPTOBS0B S oFeToss FOA
0008

(A) EHsTres | 5000w 11505 529
(B) Sosmres |5500ms 1135859
(C) B0 15356, Esss0 1135356 20

(D) ©%55%0 150858 59650, (@530 115058

S0l T°e3 23B3GWoc.

a) &B3® 1. AAQKL GXATRow $O%
ST Zaci) hsletnine)

b) oo 2. Beo) BT PHE B
22080WCEeI0

C) BF20¢%o 3. wBDE &) 1Y o
BI°C5008 50808 esEDRTHC0

d) do¥ 4. €] 20085 5y 5t o)y
FPOlSEI0

a b ¢ d

A 3 2 1 4

B 3 4 2 {1

C 3 4 1 2

M 2 3 1 4
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19.

20.

Arrange the processes of classical

conditioning in a sequential manner.

Step 1: Unconditioned stimulus emits
unconditioned response

Step 2: Conditioned stimulus emits
conditioned response

Step 3: Conditioned stimulus followed

by unconditioning stimulus

emits unconditioned response
(A) Step 1, Setp 2, Step 3
(B) Step 2, Step 3, Step 1
(C) Step 1, Step 3, Step 2
(D) Step 3, Step 2, Step 1
The first stage of Hull’s analysis of learning
includes
1) The intervening variables
2) The dependent variables
3) The independent variables
(A) 1is correct
(B) 1 and 2 are correct
(C) 3iscorrect

(D) 2 and 3 are correct

19.

20.

THO0 Der0ess (A0 BEES0S” ool

Frsel 1 900H edHS AQR0RS

(B0 e:¢i0s BAWE0

D0 2 1 D2xod e@:m Desobies

(B0 €3 0DBADE0

00 31 0B GOV BSTS AodS

GQDS I20RG (DSNOEHSY
€3 0dEAo

(A) &0 1, FI502, FI50 3
(B) FJ502, FIw03, FIH0 1
(C) Fd01, FI503, FIwo2

(D) w03, FI0 2, FIwo 1

) B5°00 waee JFHed Joocsed 58 SOR
€000

1) &% 500w

2) STENS BETEL

3) $5Bol WETUER

(A) 15028

(B) 1 So8amo 215859
(C) 3000

(D) 2 500050 3505
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21,

22.

23.

Hull’s postulate on reaction potential has
the following factors :

I. Habit strength
Il. Strength of the drive

lll. Stimulus intensity

IV. Incentive
(A) LI

(B) 11,11
©) LI, v
(D) LIV

In forward conditioning, the CS

(A) Precedes US

(B) Comes after the US

(C) Coincides with the US

(D) No role for US

Which one of the following will be called
a negative reinforcement situation ?

I. The mother gives milk to the child to
avoid her crying

Il. The child cries to get the milk from her
mother

lll. The child cries and the mother gets

the reprimand from her father
(A) lllis correct

(B) I, Ill are correct
(C) I, 1l are correct
(

D) lis correct

21,

22.

23.

STy BTV BHTTES J"%0g so (reaction
potential) OA &otd

l. eozrewn 200
Il &8935 200
lll. &5 SEs
V. &oysso
(A) 1,
(B) L 1,1
C) L, v
(D)

l, IV

C
D

SRRSO Jeoeisod” Deods &b (CS) wnd

(A) 20y2008 &gas (US) £ Savogone
Q0gID08

(B) y2008 &% (US) £ 8mrs 5:900
(C) op0ps &gws (US) & D5seeood” 53900
(D) 28yp005® &8s (US) £ e 86

300735 B HBES IRAGER SOHIT 20D 2
| B D5y Bapotmds BT 3900
Il. 895006 oo FocserS B D00

lll. 3505 AE X B Ho(Gd $o0sDoBridBCE

(A) 15850
(B) I, 155359
(C) 1, I1:58:2
(D) 1:50:56
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24,

Motivation does not imply
(A) Energy change
(B) Arousal of feeling state

(C) Making of responses which may lead
to a goal

(D) Change in response

24,

(582 DA DDV 2

(A) 585700

(B) esog0rd $3 (00w

(C) A58 TOHD EH0HoH DAdEo

(D) ©S0ESSSE” 5775

25. Match the following : 25. LoD eBEERoC,
Psychologist Concept of Motive R 2e %1:@%3@ s5en 4755
a) Sherif and 1. Achievement - .
Cantril Motive a) 209 K08 sPordS 1. T (883
b) McClelland 2. Central Motive b) 25 geoks 2. S0 (0 O
State C) rTS 3. eiro-ons
¢) Morgan 3. Ego-involvement d) 508 4 95
d) Murray 4. Psychogenic ST
needs
S, OBYB e:8EB0
5. Intrinsic drives
a b c¢c d
a b c d
A& 4 1 2 3 A 4 1 2 3
B 3 4 2 5 B 3 4 2 5
C 3 1 2 4 € 3 1 2 4
) 3 2 1 4 ) 3 2 1 4
26. The trial and error method of learning | 26, TOGE ST 05)@&5%\@55:;5 DTPoBoRd
according to Thorndike could be classified ouaee 5E500B5EY
under
o L (A) s BgRrEo
(A) The principle of partial activity
(B) The law of exercise (B) wafyse oo
(C) The principle of multiple response (C) exo¥ pdpodive drgo
(D) The principle of associative learning (D) ©0Rg e o
¥ 12 A-06-03|




27.

28.

29.

Which of the following is not a kind of
conference of group guidance technique ?

A) Case conference

(
(B) Course conference
(C) Job conference

(

D) Career conference

Dolls and Puppets are used in the
following sociometric method :

(A) Socio grams

(B) Guess who technique
(C) Socio-drama

(D) Play techniques

Which of the following statements are
correct ?

Statement|l: Paranoia is marked by
extreme suspiciousness
of other people’s motives,
frequently resulting in
elaborate beliefs that
certain people are plotting

against one.

Statement Il: Psychopathetic deviation
is marked by mild elation
and excitement without

any clear reason.

A) |, Il are incorrect

(
(B) I, Il are correct
(C) liscorrect

(

D) Ilis correct

27.

28.

29.

52 800 TS HRTT® BT E5LEG DoFDIH
150230Q0D DEKY O IO ?

A) 2 5e5:0y
B
C
D) 388 desay

(A)
(B) iy 5¢5idy

(C) e&yvaesy

(D)

208 DOBS D Fo20ES :;cg@ess 500, oo
550,00 GBATATD

(A) G Sy

(B)
(C)

(D) Ezos5es

58 99 90T D0 DOFED
TG (T3

E0c BOBY IS TV (©ES5HTen A ¢

@otne | DBEE 380 B30 (RSP D&
BERD @BodTvo R &od So®
D008 HgEe0 BJ D& SOV
BINBOTNED ST OB BEWOT 7

H)ROWE W0 €00l

Ewe Il 25T D080’ s S°Ceo
BEOTTR &ePIDCaEI0, EBeitsero

60008

(A) 1, 115852 555

(B) I, 115352
(C) 1:50:58
(D) 115850

x
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30.

If one variable is in interval scale and the
other variable is dichotomous, the
appropriate correlation coefficient is

) Biserial

(A

(B) Point Biserial
(C) Product moment
(

D) Rank correlation

30.

O
2.8 DETB ITH0 575508° God 3o HET3
QBTSN €063 D38 0K 155 H00¢S Moea%o

D& 9

31. Which of the following statement is not | 31. $o& P5Smed D6 DORHE 5260 ?
correct ? (A) e.53855 DEans S50 BESreRsd
(A) A test cannot be valid without being 8¢5
reliable (B) o555 5 e Sme Dagdans SOn
(B) A test can be reliable without being €:0€2008)
valid (C) 255055 HESIresnntd S000k0 JEHAaHS
(C) A test can be both valid and reliable SONSG oty
(D) A test can be valid without being (D) 255055 D0 B8y $Esres SOA
reliable SOGD)
32. Stadardised tests are preferred for 32. &VETD @mmmaﬁﬁgp& DO 7
1) Taking placement decisions 1. Dot Agaires SoEHels
. . . 2. ITPTETS, 0030080 V00O
2) Takin dance and counselin AT
) q ,' ,g gul ! e FONT0 B80S
ecisions e
3. dogBao80 385005 EIS A orres
3) Taking decisions for grading of @mgs;mi)é
students
4. oy (©ETIE [o0aX» AP IPAITO[S
4) Taking curriculum and policy decisions &8558
The correct option(s) is / are : 23S 59 eCRVARY
(A) 3 only (A) 355G
(B) 1and 2 (B) 1 5080%0 2
(C) 1,2and 3 (C) 1,2 %0805 3
(D) 1,2,3and 4 (D) 1,2, 35008050 4
k4 14 A-06-03|




33. Match the list—1 and List -1 :
List -1 List-1I

1. Panel study a) Studies the sub-
population with
common defined
characteristic

over time

2. Cohertstudy b) Collects data from
a sample at one
point of time

Examines the
same people
overtime

3. Trend study c¢)

4. Cross-sectional d) Examining the

study changes within
the population
overtime
1 2 3 4
(A) a c b a
B) b a ¢ d
C) c a d b
(D) d c a d

34. Which of the following measurement does
not divide a set of observations into equal
parts ?

(A) Median
(B
(C
(D

Quatrtiles

Standard deviation

)
)
)
)

Deciles

33. 038 — 1350 9635 — | ex955508.

5695 -1 395 -1l

1. etpegolso  a) Sossreo Jen
PRG0N GO
@b@ﬁ)qi?s 23T°eT°
OFET) 89(;550&):60

D008

2. o8 eGobio b) e A0NEe0 HE el

BHWBONHK0 Kook
DT EB00

3. 5683 @G0B0 €) S0 STwoIen o3

e3reTi50 H50&08

4, K)oég S esconso d) 28 3o’ SoBT00

e S0 DTS
BrEnt0 00to
1 2 3 4
(A) a c b a
B) b a ¢ d
(C) c a d b
(D) d c a d

34. 206387 O 1o S5OFise SRR 8%
2TTTPOONT® g0 2

(A) Ho¢5y1550
(B) wdoTromren
(C) 557635 DSt

(D) es850°0mmen

x
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35. If a distribution is abnormally tall and | 35, 0.5 Jeyees e oEmonr BT S5o0AT

peaked then the distribution is BPEOTNBOMT® 063 es Je¥esid DR Eod
(A) Leptokurtic (A) esB00n 5658

(B) Pyrokurtic (B) ez 550058

(C) Platykurtic (C) Sode 85650

(D) Mesokurtic (D) Soggso 5659

36. Sampling frame means 36. (HDOMD V(g0 @083
) 20 ASsoWNEo
B) esmrerio erfmrmoin
C) TSI BABADTY JonE Do
D) 2856 BHanTedy Jons Dako

(A) Defining the population (A
(B) Listing the population (
(C) Selecting representative sample (
(D) (

D) Selecting adequate sample
37. Parametric : Non parametric is as : 37. 23 5o : o 1A PGB S8 T
&9

(A) Interval data : Ordinal data
QT°0 (TOEO : (EL00°0E (00

) Nominal data : Ratio data *)
(B) S55088800508 (e30%0 : 9QAS STroko
(©)
(D) 2

(B
(C) t-test: ANOVA
(D) Chi square test : Median test

t 200g : ANOVA

3, 50 00§ : B¢y 50§,

38. Match the following : 38. 20857639 aBEHec

1. Ethnography a) Intact groups

1. {8870 a) 0o DBoSten
2. Rotational b) Theoretical (Intact groups)
designs sampling 2. 55055 S307Tes b) PERods ESBanso
3. Grounded c) The approach 3. T2k oD ¢) AVET Feds
theory to understand @ma;%o e
lived in experience OIS DS
4. Phenomenology d) Anthropological €100
approach in 4. SyigsonTo  d) $08°EsE” STy
research G100
1 2 3 4 1 2 3 4
(A) a c b d (A) a c b d
B b a ¢ d B) b a ¢ d
(C) d a b ¢ (C) d a b c
(D) a b d c D) a b d c

(¥ 16 A-06-03|




39. Which of the following statements are
correct ?

1. Measurement depends upon
evaluation

2. Evaluation is an act or a process that
allows one to make a judgement

3. Sound evaluation is based upon the
results of accurate and relevant
measurement

(A) Statements 1 and 2 are correct

(B) Statements 2 and 3 are correct

(C) Statements 3 and 1 are correct

(D) 1,2 and 3 are correct

40. Match the following questions of

evaluation with the interpretation given by
Harriet Talmage :

a) Goodness or 1. ldeational
appropriateness value
of the curriculum

b) Relevant to 2. Comparative
audience group value

C) Is it better to 3. Instrumental

existing curriculum ?  value

d) Best ways or ideals 4. Decision

of the program value
5. Intrinsic value
a b ¢ d
A) 4 3 1
B 5 3 2 1
©c 3 4 2 A1
) 4 3 2 A1

39. 2065 3D PHTTS® TBB DV 2
1. 500 Sarergosiso 905 TSRS 08000

2. Sorergesio b é’)goi)ofboi)mbé E800D
28 B85 S Idad

3. Be3apd BoreroEdo HONBAD BB
RBOMBERND B0 HOTeR e &0enod.
(A) 15500500 2 ESETe OB
(B) 2 5050050 3 ©B5Emres o8
(C) 3 S080%0 1 9800 {500
(D) 1, 2 20000 3 (358Tren 530
40. $500erosS HEHDY 00T erdave glyd
T8 enttod
a) oy BErdE Aoy, 1. gPETESE Deod

B B DH00BE0

b) §°6e $800t8 2.
SONERD

ééo@még RISV

C) Bu® ITyRerdE & 3. e Dok
PO GBBIRIT ?

d) G50 GBTTIeD 4. JG02E Do
o [ ac)

ST ety
3. @OBYLH JLD
a b c d
(A) 4 3 1 2
(B) 5 3 2 1
(C) 3 4 2 1
(D) 4 3 2 1

x
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41. Identify the correct statement from the M. 2065 3OS T3S ST (DT HQoD0E.
following : 5
— 1. o0 DHoTTreD — e, 630b, Db
1. Scientific models — Taba, Tyler, Saylor =,
2. Non-scientific models — Alexander, 2. ol SRrwes —elpetd, mEY
Glathorn (A) 1500050 25058
(A) Both 1 and 2 are correct (B) 1:58:56 25058 ¢
(B) 1is correct 2 is incorrect (C) 25056 15356 =
(C) 2is correct 1 is incorrect (D) 150800 25359 599
(D) Both 1 and 2 are incorrect
42, 2065 3D D H0rer0ES (KGNS $S(EST
. . , ) ) ) Q
42. It _|s no.t possnble_ to improve the program D060 5350 FEHOTE 2
with this evaluation process
(A) Formative (A) droe
(B) Summative (B) ©ose
(C) Formative and summative (C) 5rer B0k 50508
(D) Neither formative nor summative (D) &i5es, 0508 Docir 570
43. Arrange the steps of evaluation in a 43. $orgESH08 ) Frorot HO5 HEdERs”
correct sequence 50508
1) Creat?ng appropriate Iear.ning 1) 2o T TR0° S0 T OB
experiences through educational .o
- (oQ)oa\oiﬁcSo
activities ©
2) Formulation and definition of 2) dorgogr soRo Agsod SrLrotonio
Educational objectives 3) (BT K0 PO MRS Wolbo
3) Evaluating on the basis of behavioral (A) 3,2, 1 (B) 2,1,3
changes
(C) 1,2,3 (D) 3,1,2
(A) 3,2, 1 (B) 2,1,3
(€) 1,2,3 (D) 3,1,2 A4, =S GO Ao @erdE BEo (2000)
44. The National curriculum frame work for BA HATTE> DANEIS 2o BEBoWG0H
Teachfer Education (2009) focuses on (A) 3555 g0, Bioemyes 5o E3Trie
preparing RN
(A) Competent and skillful teachers (B) @ardo, 0038 griso o eraioes
(B) Effective and dedicated teachers (C) dzayo508308, VI8 earSo Ao
(C) Successful and committed teachers & T 5oso00
(D) Professional and humane teachers (D) 582805, SIS0 egrgeiony
(¥ 18 A-06-03|




45. Which of the following technique and tools | 45, 208 T3¢° 208203, &88Sere Howodod

combination is correct ? K0 5B 9

(A) Sociometric techniques — Sociogram, (A) 008NN DOFTESOO-TTOPOENS, IT°SE

TR
rating, scale, social distance scales S, TPOME ST SIKEe

(B) Self-reporting techniques — Interview, (B) 2503 DS DoFHBd-000yS), $R5es,
inventories, questionnaires PSEANSCRSY

(C) Observational techniques — Check (C) 5@%)@50%@05@5@3_@35) SoeDEen, TS

TR
lists, rating, scales, Doll play BIE00), ETH0ere

(D) Projective techniques — Ink blots, (D) 58 DoFOBeo-doeossen, CAT, TAT,
CAT, TAT, Personal interview ;Q?S%Ké Ee\m)

46. Match the following : 46. 208 5239 e3BEB05.

a) How well our test 1. Concurrent Q) (50 (BRHURE 1. e&os
samples represents validity 0200500 DVWO WTETEd  ESIERD
the universe of criterion 203 HSBVANDH0 ot
behavior ? DOES @“@é’)c;ﬁ?so DeR08

b) How closely test scores 2. Content b) $:00 EXres BEITE 2. AW
are correlated with validity 3530 Keaden doss SRS ST Saet)
present criterion 55370230630 EOA €500

ior ?
behavior C) S ey ERgHSe 3. 203

c) How well test scores 3. Construct 550 Keadsen Jos SEK DB

predict future criterion validity 905 DI 9
ior ?
behavior d) SosFogernvdy 4. aREs

d) How well our test 4. Predictive SIS0 DRI ot o)
seems to measure a validity <55 2053005 0
hypothesized trait ? - 5 s

5. Face ' vv;} 5
validity ) g S
a c
a b ¢ d
A 2 1 8

A 5 2 1 38 A 5

®) 2 {1 a4 3 B) 2 1 4 3
4 2 1

¢Cc 4 3 2 A1 © 3

by 5 2 3 1 G5 2 8 1

| ny 19 A-06-03 |




47. Which of the following refers to criterion

48.

referenced tests ?
1. They omit very easy and very hard items

2. Student performance is shown through

a grade or score

3. It goes with a description of what
exactly the individual has to do or
perform tasks

4. It requires a clearly defined

achievement domain
(A) Statements 1 and 2
(B) Statements 1 and 3
(C) Statements 2 and 4
(D) Statements 3 and 4
Raven’s standard progressive matrices
can be used for

1. Even for those who cannot read and

write
2. Those people with Aphasia
3. People with cerebral palsy or deafness
4. For all those between 16-60 years age
(A) 1,2, 3, 4 are correct
(B) 1,2, 3 are correct
(C) 1, 3, 4 are correct

(D) 2, 3, 4 are correct

47. 2007%3E° I (550789 SrDE SOZR0 BT ?

48.

1. @) Tor Dol TPe° SOSM0 WoT R0
BOTDITQ0.

2. Ao XSS Bed Sor Nexd oo
BOAHET 00

3. 58 pdysorr Do Daxmd S D Hidoen
DOITSD TP ASOT00

4. R ATFI0DRICES TETEONT) eSO
5OA &oeTom

(A) 1, 2 P55
(B) 1, 3 o5wren
(C) 2, 4 BHomres

(D 3, 4 P55

T (550838 RS 57300 S0 %38 Dedd
EIATRODIR)Y

1. 35¢E585¢0 TraXEo Tl 08 e
2. gridgr §o (Aphasia) Ko S55eo
3. SRy, BETso So AVIEE0 Mo S5heo

4. 16 5058y0°0 006 60 5058070 H5aK0)
Koo

(A) 1,2,3, 4055859
(B) 1,2, 315059
(C) 1,3, 415052

(D) 2,3, 415059

LE4
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49. Among different types of objective test
items, if ‘selection type’ items test
recognizing ability, then ‘supply type’ items
tests

(A) Understanding ability
(B) Recalling ability
(C)

(D) Analytical ability

Reasoning ability

50. Match the following :
1) Article 29 a) Rights of
education
of minorities
2) Article 30 b) Instruction in
mother tongue
3) Article 45 c) Right to conserve

their own language

4) Article 350 d) Compulsory

education
1 2 3 4
(A) c a d b
(B) a b ¢ d
C) b c d a
(D) d a b c

51. The important functions of Local Education
Board in USA is

(A) Organizing conferences related to
local education issues

(B) Providing consultancy to schools

(C) Formulate education policy,
examining progress of the students and
evaluate their work

(D) Fixing norms and standards for
assessment of schools and learners.

49. D¢ I I ARHOF woTed” ‘Do §50
©OT"e MFoD FHT 5 DOFY HSHoT S5’
907700 A O

(A)
(B) Dsd0es w08 o
(C) =g sT=0g 50
(D) J8ew o8 50
50. 208 7redd ssnokod :
1) «05629 a) ©eSogrgHe Jog
NISORSY
2) 05530 b) $rdyerg” 7S
3) egxd45 C) B0 Sgald s
H0E§0tET %),
4) 955350 d) Deocs des
1 2 3 4
(A) c a d b
(B) a b ¢ d
(C) b c d a
(D) d a b c
51. USA &3 05 Jog 520800 BT 8

(A) E D070 SRR ITFIOWEO
(B) r&moos) Hodf ket @ofoddo

(C) ooy dgrrode SrFfodotico, Qg0
NS HDOZoB G0 5000 T°0 HA
BOPErgOE0 WO

(D) Frs7rons, @argdsiots HH80) BOLEIS
(DRDTETO0, JODBIOB0 IGAOWEO

x
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LT

52. Which of the following is not the | 52. 58 Je5:0 Howofod Sob Tl B3IV Ford
recommendation of Kothari Commission E05S DI50 DOHSE: 2

related to vocational education ?

(A) Do H0Re8™ Desgo B3 e Sogrso

(A) Linking education given in the
DodEo
institution with production

B) 55572308 595G @500 ebordesone
(B) Re-change the pattern of education as ®) 9=

per the vocational needs of the society VT HoZ BT
(C) Providing opportunity for education of (C) Jdorgadon ROsrod FOAS byoH
disadvantaged children DTHTT O ©oROBE0
(D) Providing pre-vocational nature of (D) 3@6895)655583“@@?@“&?68§ﬁ§ 050
education along with general
;’)65263 Tlelnlemlnle]

education

53. Select the correct sequence of basic steps | 53- PERT & 5308 T (5810 SE0E50md) o8

in PERT Dadodt.

1. Defining the objectives 1. o5 Agsoco

2. Network Design 2. DRGS0

3. Making time estimator 3. el BotmaiEo

4. Preparing a work breakdown 4. 505 BOTPSHDANE0
(A) 1,2,8,4 (A) 1,2,8,4

(B) 1,4,2,3 (B) 1,4,2,3

© 1,324 (C) 1,3,2,4

(D) 1,4,3,2 (D) 1,4,83,2

¥ 22 A-06-03 |




54. Match the following :

List -1

a) Objective

b) Goal

c) Mission

d) Strategy

Codes :
a b
(A) 1 3
B) 2 4
Cc 3 1
(D) 4 3

1)

List—1I

A stage that an
organization is
trying to achieve

Big issues in the
long time

A defined
measurable

result to be
achieved

within a

stated time

A broad view of what

the organization
ought to be

N W A~ Q

—

55. The purpose of operation black board is

(A) Providing school building

(B) Providing adequate teachers

(C) Providing minimum

essential

facilities for primary schools

(D) Providing blackboard to all schools

B4. 2087030 38DV ¢

By -1 SR |
a) oF© 1) e8%0g IRoneds
BB 5%
b) oo 2) HYTeoED
30T 0
C) ST 3) dgRvoaned”
Mission THOD SODSAD
200
d) rgro 4) 25005 DHLHED
DB ESyEEo
gﬁé‘a .
a b ¢ d

55. 59 g 56550 e0%50 :
(A) 6T~ gisody @oloicio
(B) 2503365 &7g0ioets esofoso

(C) TE0E TS0 @3%5@26 S0 508005
Slelalon ele)

(D) &) 7377005 5920080 @oloiEo

mE
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56.

57.

A leader with which style of leadership is
more likely to inspire trust, respect and
measurable positive effects among
subordinates

(A) Autocratic leadership style
(B) Laissez faire leadership
(C)
(D)

D) Transformational leadership style

Participative style leadership

Which of the following is not the function
of a School Management Committee
(SMC) ?

(A) Monitoring school activities

(B) Conducting Parents — Teachers
Association Meeting

(C) Supporting school activities

(D) Maintaining teachers attendance

56.

57.

D TEI98 TAEB0S° TONFOES B
WBAIPOI00E” 559,570, FET (OB

ETONEAD 950570 (PeT7arr00 RO
A) JB0E TabE; 2O
B) Syomoios srabssse

(A)
(B)
(C) arirgogoshod Trashsts 30
(D) $O5ST00% TaHE; 3O

208 TUE° DO FrETre AoTed A3 (SMC)
%), Ao’ Beso 2
(A) FE770 T SO

(B) 8980(goer-&Trerorne o0 DETNE
Nloloxac

(C) Frtmro KT Ho¢BAeEo

(D) &rgrgoioe Sfesdds JT5rotEo

58. IGNOU launched an educational channel | 58. 2000 5 20:58)508" IGNOU @090 g
in the year 2000 is TS
(A) Ekalavya (A) %o
(B) Mana TV (B) 505 ¢5.9
(C) Bruhaspathi (C) ay>sd
(D) Gyandarshan (D) ezxe55,S

59. The Iatgst c.urriculumf.rameworkfor school | gq «. oS 0 S 563 Tool® o eI
educ.at.lc.m in F:omposne Andhra Pradesh 51679 D 5055008 BT 2
was initiated in
(A) 2005 (A) 2005
(B) 2009 (B) 2009
(C) 2014 (C) 2014
(D) 2011 (D) 2011

¥ 24 A-06-03|




60.

Match the following :
List -1 List -2
a) Richard i) Non directive
Suchman model

b) Carl Rogers i) Inquiry training

model

c) Hilda Taba iii) Social simulation

model

d) Serene Borck iv) Inductive thinking

model
Codes :
a b ¢ d
(A) (i) (i) (i) (iv)
B) (i) (i) (iv) (i)
(C) (iii) (iv) (i) (i)
(D) (iv) (iiiy () (i)
61. Which statement about electronic

whiteboard is not true ?

(A) To use an electronic whiteboard with
a computer you need a projector

You don’t need to use the included
pen, if you wish, you can write on the
board with your fingers

(B)

Electronic whiteboard should be
mounted as high as possible so that
students can only see not touch them

Electronic whiteboards come with
presentations. Software that enables
teachers to use their full functionality

60. 208 T3 e3BBEVSG :

61.

35— 1 5695 - 2

a) 6wud 0E%S i) @03 B80T

b) =6 &k, i) %3 BZeT 500

C) drereres i) ro%o Qg BSE
500

d) 265565 V) esrso e e
S50

&

a b ¢ d

(A) () (i) (i) (iv)

(B) (i) () (v) (i)

(C) (i) (iv) (i) (i)

(D) (iv) (i) (i) (i)

o0 T3 Dy Bowwtd 5020000 D6 RE0 ?
(A) Sorgb & $8B ogs Bowesy
3G RoTT0E] &8 (@50 eshso

(B) 0530635 2280y eGP0 S0
DO DOF £ S0P TPoHE)

(C) Jmgen oo SrerdSo D8 Tedos

D8B9E° DS By 5007

(D) 2555 Bpages BEGHENH DS

TR0 & TEEONE eTraions 73D 9
THG0E EDAPAOESEY)

x

25

A-06-03]




62.

63.

Find the odd man out :

(A) Social inquiry model

(B) Jurisprudential model

(C) Classroom meeting model

(D) Synectics model

Which of the following statements about
‘Microteaching’ is false ?

(A) It is an innovative method to teach

students

(B) The emphasisis on “how” to teach and

not “what” to teach
(C) It requires peers to observe skills

(D) Specific areas of teaching skills can

be assessed using microteaching

62.

63.

208 738" o T3S Howoo B o)
§263§st&

(A) 008 55655 550070
(B) o008 55078
(C) BEHANE BT D507

(D) 5385 S507
35y 505 5020000 o8 T35 DO e:5%50 ?

(A) oo FRoNEIS eb 8.8 IS HGS

(B) 28 S0omrend s°50m Jer S Homred

R @"@265{9 EOA 6082008

(C) DDeTgdo D000, D0BDoBION

60008

(D) &g, 65550 eddrhod &g pered”
5 T30 BoBoy) DALHBY

.

0gs

64. Which item is not an accurate statement | g4 S0yl eTr0B B 020509 08 T3S
- ing ?
about computer — based testing “ 58 PR (55550 T 9
(A) Students are able to immediately see
_ (A) oo Bk HOTK0 oD BE L)
their results ®
(B) Computer tests eliminate the (B) Soigygead w0gerdrivo Latbad) Fohan
possibility of cheating (C) Troaioess (S0 Qosirfonodd 38 Neasersd
(C) Except for essay questions, the go@wéeg@gg@;ow
computers can score the test
(D) 205T5ers Do SEFso s o),
(D) Teachers save time and environment
. _ DOGSEETR) STCsdia)
by not making paper copies of a test
¥ 26 A-06-03 |




65. Match the following :

List-1 List -2
a) Micro teaching 1) Media integrated
teaching
b) Lecture 2) Small group
teaching
c) Tutorial 3) Skill training

d) Power Point 4) Large group

teaching
Codes :
a b ¢ d
(A) 1 4 2 3
B) 1 2 38 4
(C) 38 4 2 1
(D) 3 2 4 1
66. Match the following :
List-1 List -2
a) SCERT 1) Primary level teacher
education
b) SIEMAT 2) Secondary level
teacher education
c) DIET 3) School Education
d) CTE 4) Educational
Administration
Codes :
a b ¢ d
(A) 1 2 38 4
B) 2 3 4 1
(C) 38 4 1 2
(D) 4 1 2 8

65. 208 T3 BHVEVG.

935 — 1 638 —
a) 375, 5 1) S50e50 S50 657650
b) e&xmrgdo 2) D) BT &GS
C) ngeSoand  3) ey e
d) 956 rawoes  4) ¢ B S

&
a b ¢ d

A 1 4 2 3
B 1 2 3 4
C 3 4 2 1
D) 3 2 4 1

66. 208 T3 WHVEVG.

2635 = 1 9635 - 2
a) SCERT 1) @PEE P
€T g
b) SIEMAT 2) 75ocd row
€T g
c) DIET ) JESACTAS VAN
d) CTE 4) oy 0TS
&
a b ¢ d
A 1 2 3
B) 2 3 4 1
Cc) 3 4 1 2
D) 4 1 2 3

x
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67.

Which of the following statements is
correct ?

Statement - | : Paraplegia indicates a
motor impairment of the
legs only

:Hemiplegia refers to a
major involvement of the
legs, with less severe
involvement of the arms

Statement - II

A)
B)
C)
D)

Statements | and Il are incorrect
Statement | is correct and |l is incorrect

Statement | is incorrect and Il is correct

A~ AN~ o~

Statements | and Il are correct

67.

68.

WO OO AR
200 TIE" D (BHB[0 OB

TT 0 8500 THD
moaaoc‘boi):é BOD 6831’8’)&
X OR00

@PNde =1

Ewno— Il 2200 eas dE I ST

R020Q0VDIY &0t DTDBOOL
BHEN D S O &otod

e |, 115085 596

90 | S feRela) ] QOB ¢

90 | QOB ¢ ] S feRela)
NS0 1, SfeRela)

A
B
C

(
(
(
(D

) ©
e
) ©
)

$0¢5 RN DRTEUT TV @U°EO§ 0200H0ND
638 2BHSHS :

68. Match the foIIowing integration and the a) JruTo emeds® Emes 1) ol
meaning related to it : go%@mo@s REN KKy
a) Planning for locating 1) Social ST % I8H0

the special programmes integration 5 oo
in school buildings
RRER50 60070 20 QIPE0
b) Personal interaction 2) Societal o= v‘po % R
. ) : 958 s, BSBSg
between students with integration
and without handicap C) wokd¥eso ;%id)‘ 3) 8%
(SllpNINONe) ORI PONBSONe)
. . =3
C) Qsmg school resources 3) Physuca}l o0 St S5,
simultaneous by both integration -
. &OCITPNOWEE0
handicapped and
without handicapped d) eorpseo Somth 4) s
d) Planni . 4) Academ ©oKTo50 B TOS KO SRUESS
) Planningtomake ~  4) Academic SOBCo, Bondio, HOY
handicapped to work, live,  integration
and spend leisure time RR0CIT yhoweEo
with non-handicapped 5) erSign
5) Emotional RSO0
integration a b ¢ d
a b ¢ d (A) 1 3 5 4
(A) 13 5 4 B 3 1 4 2
(B) 8 1 4 2
C) 4 3 2 5 € 4 3 2 5
D 3 2 1 5 M 3 2 1 5
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69.

70.

71.

Which of the following statements are
correct ?

Statement - | : Myelomeningocele refers
to protrusion of spinal
lining, spinal cord, and
nerve roots.

Statement — Il : Athetoid cerebral palsy

have tense and contracted
muscles.

A) Statement | is correctand Il is incorrect

(
(B) Statementlisincorrectand llis correct
(C) Statements | and Il are correct

(

D) Statements|and Il are incorrect.

The range of intelligence quotient (IQ) for

Educable Mentally Retarded is:
(A) 30-59
(B) Below 30
(C) 60-85
(D) 40-54

The supervisor “Wants to use all the
intelligence of all the faculty members. He
will apply it to the establishment of faculty
structure as well as to the solution of
problems” —is an example of this principle

of democratic organization.
A) Cooperation
B) Coordination

(A)
(B)
(C) Participation
(D)

D) Leadership

69.

70.

71.

Eo8 T%3S° D BSPTe OB ?

BRE90 = 11 28 RVOR DS D0 TH00E SR
ISP, TE  EBN)eo
BT TR BTDR00

ESowo— Il ederant 5033, 55780 DA,

008008 Fo&koTwso EOA
0008

(A) ©5550 115056 115056 s7¢

(B) %0 155056 50¢% 115356

(C) o, 115399

(D) s, 35005559

DGO KOR SIS DI DOBS (Hegised)
(1Q)

(A) 30-59

(B) 30 & aronme

(C) 60-85

(D) 40-54

“HT@ESE doPo FTT Deod g
EDATROD G 2200 BB THoD B0

DO 000 AIABTFAOT OIS TNED”
(PG50 HESRH0E) Be R0 B3

L

&0%5°08
(A) S5=°S0
(B) <5050

(C) arridrgiog
(D) mrobso

x
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72.

In the process of organizational change

72. 55825 2rroBo HS0 NORNG ey B’
Kurt Lewin’s theory described a 3-stage
L 507765 5500 208 T%¢38° A KBoBod.
process of change identify from the
following : (A) D50, aboFRs T3 55585 560,
(A) Reinforcing, finding fits, maintaining 05D T3 DSETOBE0
fits
(B) Sogide Sono), G0, 9dsoesd
(B) Unfreezing, moving and refreezing
(C) Task, structure and technology (C) 5550, 0%, TOR85S
(D) Reinforcing, moving and Refreezing (D) DGto, 5500, Dbeoasd
73. Choose the correct statement about | 73. DPEP % 020803 $35 (9857T°0) Joby
DPEP :
ool
1) The program aims at providing
educational access to all and attain 1) e @003 wocberend™d B 100%
100% retention. D08 TRoWES &G3olod
2) DPEP selected state as a basic unit of
2) o) a8 abrdeS DPEP o8 2206
program =
3) Making Educationally backward 3) B0re FORBE” ATEITOMT IBSGS
districts in female literacy on par with 2050 2SO BREI e BIES
© [}
national average as one of the criteria.
_ (A) 1,2, 3533257
(A) Statements 1, 2, 3 are incorrect
(B) Only 1 is correct (B) SSeo 115300
(C) Only 3is incorrect (C) Ese0 315050 =6
(D) Only 2 is correct
(D) oo 25356
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74. Match the following :
Type Area of Brain Lesion

a) Ataxia 1) Basal ganglia and
extra pyramidical

tracts
b) Athetosis  2) Basal ganglia
C) Spasticity  3) Subcortical, cerebellum

d) Tremor 4) Motor cortex and

pyramidical tracts
5) Diffuse
a b ¢ d

A 3 1 4 5

75. Some children can visualize all the objects
either black or white due to this visual

impairment.

(A) Astigmatism

(B) Complete colour blindness
(C) Partial colour blindness

(D) Short sightedness.

74, 23555506 :
50 R0656606° 3ot (Froto

a) erdor 1) S3Smonhad, H5er

DEWEES 75 y

b) eseeS 2) &xSmronal

C) TmRded 3) 2505, 20Bwo
d) 06 4) 37erd 05, 20WEES
€75y
5) &g
a b ¢ d

A) 3 1 4 5

75. 3005 3055 O $REWo $0 Foisth oo e,

SO S0k TT° B SO BTRD ?
(A) eumedesso

(B) 203578 58 @0¢80

(C) rEESP eoisso

(D) &5 Sy
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